k) =
IS ) r
g = L
= 3
e o 107 e Firorrmmr e
S SE:
s} o
- -
10—2 ERRRAEREE EERELTEEETEEETLETEEETREL S TEEETREETE
E -

1073

Wl

2 3
TP pT (PCA t%obeamliné[f)

Ratio

,_‘
N
=
—-—-n—;
H—

H
i
h—

1

=
o
iN

2 3
TP pT (PCA t% beamlinélf)

[—=— DQM_VUUUI_ROUUU0U00UI__Global__CMSSW_CKi__RECO

—e— DQM_V0001_R000000001__Global__CMSSW_mkFitOriginal__RECO
—— DQM_V0001_R000000001__Global_CMSSW_mkFitLowPtQuad__RECO
—— DOM_V0001_R000000001__Global__CMSSW_mKkFitLowPtTriplet_ RECO

- -
= IS I U A
5 3]
2 =
-~ - R
2 o>
2 o
2 =
3 ©

107! 1

2 3
TP pT (PCA tjbobeamliné'f)

o p/p.)




	Contents
	Page 1


